
Uitwerkingen hoofdstuk 6 

Wiskunde 1 

 

6.1 

a. 
𝑎+3

𝑎−3
→ 𝑡𝑒𝑟𝑚 1: 𝑎, 𝑡𝑒𝑟𝑚 2: 3 →

𝑎

𝑎−3
+

3

𝑎−3
 

b. 
2𝑎+3𝑏

𝑎−𝑏
→ 𝑡𝑒𝑟𝑚 1:  2𝑎, 𝑡𝑒𝑟𝑚 2:  3𝑏 →

2𝑎

𝑎−𝑏
+

3𝑏

𝑎−𝑏
 

c. 
𝑎2+3𝑎+1

𝑎2−3
→ 𝑡𝑒𝑟𝑚 1:  𝑎2, 𝑡𝑒𝑟𝑚 2: 3𝑎,   𝑡𝑒𝑟𝑚 3: 1 →

𝑎2

𝑎2−3
+

3𝑎

𝑎2−3
+

1

𝑎2−3
 

d. 
2𝑎−𝑏+3

𝑎𝑏−3
→ 𝑡𝑒𝑟𝑚 1:  2𝑎, 𝑡𝑒𝑟𝑚 2: −𝑏,   𝑡𝑒𝑟𝑚 3: 3 →

2𝑎

𝑎𝑏−3
−

𝑏

𝑎𝑏−3
+

3

𝑎𝑏−3
 

e. 
2−5𝑎

𝑏−𝑎3 → 𝑡𝑒𝑟𝑚 1: 2, 𝑡𝑒𝑟𝑚 2: − 5𝑎 →
2

𝑏−𝑎3 −
5𝑎

𝑏−𝑎3 

 

6.2 

a. 
𝑎2+𝑏2

𝑎2−𝑏2 →   𝑡𝑒𝑟𝑚 1: 𝑎2, 𝑡𝑒𝑟𝑚 2: 𝑏2 →
𝑎2

𝑎2−𝑏2 +
𝑏2

𝑎2−𝑏2 

b. 
𝑎𝑏+𝑏𝑐−𝑐𝑎

𝑎−2𝑏
→ 𝑡𝑒𝑟𝑚 1: 𝑎𝑏, 𝑡𝑒𝑟𝑚 2:  𝑏𝑐, 𝑡𝑒𝑟𝑚 3: − 𝑐𝑎 →

𝑎𝑏

𝑎−2𝑏
+

𝑏𝑐

𝑎−2𝑏
−

𝑐𝑎

𝑎−2𝑏
 

c. 
𝑏2−1

𝑎2−1
→ 𝑡𝑒𝑟𝑚 1:  𝑏2, 𝑡𝑒𝑟𝑚 2: − 1 →

𝑏2

𝑎2−1
−

1

𝑎2−1
 

d. 
4𝑎𝑏𝑐+5

𝑐−𝑎𝑏
→ 𝑡𝑒𝑟𝑚 1: 4𝑎𝑏𝑐, 𝑡𝑒𝑟𝑚 2: 5 →

4𝑎𝑏𝑐

𝑐−𝑎𝑏
+

5

𝑐−𝑎𝑏
 

e. 
(5𝑎𝑏2−𝑎𝑏𝑐)

(𝑎𝑏−𝑐)
→ 𝑡𝑒𝑟𝑚 1: 5𝑎𝑏2 , 𝑡𝑒𝑟𝑚 2: − 𝑎𝑏𝑐 →

5𝑎𝑏2

𝑎𝑏−𝑐
−

𝑎𝑏𝑐

𝑎𝑏−𝑐
 

 

6.3  

a. 
1

𝑎−3
−

1

𝑎+3
=

1∗(𝑎+3)

(𝑎−3)∗(𝑎+3)
−

1∗(𝑎−3)

(𝑎+3)∗(𝑎−3)
=

𝑎+3

𝑎∗𝑎+𝑎∗3−3∗𝑎−3∗3
−

𝑎−3

𝑎∗𝑎+𝑎∗(−3)+3∗𝑎+3∗(−3)
=

𝑎+3

𝑎2+3𝑎−3𝑎−9
−

𝑎−3

𝑎2−3𝑎+3𝑎−9
=

𝑎+3

𝑎2−9
−

𝑎−3

𝑎2−9
=

((𝑎+3)−(𝑎−3))

𝑎2−9
=

𝑎+3−𝑎+3

𝑎2−9
=

6

𝑎2−9
 

b. 
1

𝑎−3
+

1

𝑎+3
=

1∗(𝑎+3)

(𝑎−3)∗(𝑎+3)
+

1∗(𝑎−3)

(𝑎+3)∗(𝑎−3)
=

𝑎+3

𝑎∗𝑎+𝑎∗3−3∗𝑎−3∗3
+

𝑎−3

𝑎∗𝑎+𝑎∗(−3)+3∗𝑎+3∗(−3)
=

𝑎+3

𝑎2+3𝑎−3𝑎−9
+

𝑎−3

𝑎2−3𝑎+3𝑎−9
=

𝑎+3

𝑎2−9
+

𝑎−3

𝑎2−9
=

((𝑎+3)+(𝑎−3))

𝑎2−9
=

𝑎+3+𝑎−3

𝑎2−9
=

2𝑎

𝑎2−9
 

c. 
2

𝑎−3
−

1

𝑎+3
=

2∗(𝑎+3)

(𝑎−3)∗(𝑎+3)
−

1∗(𝑎−3)

(𝑎+3)∗(𝑎−3)
=

2𝑎+6

𝑎∗𝑎+𝑎∗3−3∗𝑎−3∗3
−

𝑎−3

𝑎∗𝑎+𝑎∗(−3)+3∗𝑎+3∗(−3)
=

2𝑎+6

𝑎2+3𝑎−3𝑎−9
−

𝑎−3

𝑎2−3𝑎+3𝑎−9
=

2𝑎+6

𝑎2−9
−

𝑎−3

𝑎2−9
=

((2𝑎+6)−(𝑎−3))

𝑎2−9
=

2𝑎+6−𝑎+3

𝑎2−9
=

𝑎+9

𝑎2−9
 



d.  
1

𝑎−3
+

𝑎

𝑎+3
=

1∗(𝑎+3)

(𝑎−3)∗(𝑎+3)
+

𝑎∗(𝑎−3)

(𝑎+3)∗(𝑎−3)
=

𝑎+3

𝑎∗𝑎+𝑎∗3−3∗𝑎−3∗3
+

𝑎2−3𝑎

𝑎∗𝑎+𝑎∗(−3)+3∗𝑎+3∗(−3)
=

𝑎+3

𝑎2+3𝑎−3𝑎−9
+

𝑎2−3𝑎

𝑎2−3𝑎+3𝑎−9
=

𝑎+3

𝑎2−9
+

𝑎2−3𝑎

𝑎2−9
=

((𝑎+3)+(𝑎2−3𝑎))

𝑎2−9
=

𝑎+3+𝑎2−3𝑎

𝑎2−9
=

𝑎2−2𝑎+3

𝑎2−9
 

 

e. 
𝑎

𝑎−3
−

𝑎

𝑎+3
=

𝑎∗(𝑎+3)

(𝑎−3)∗(𝑎+3)
−

𝑎∗(𝑎−3)

(𝑎+3)∗(𝑎−3)
=

𝑎2+3𝑎

𝑎∗𝑎+𝑎∗3−3∗𝑎−3∗3
−

𝑎2−3𝑎

𝑎∗𝑎+𝑎∗(−3)+3∗𝑎+3∗(−3)
=

𝑎2+3𝑎

𝑎2+3𝑎−3𝑎−9
−

𝑎2−3𝑎

𝑎2−3𝑎+3𝑎−9
=

𝑎2+3𝑎

𝑎2−9
−

𝑎2−3𝑎

𝑎2−9
=

((𝑎2+3𝑎)−(𝑎2−3𝑎))

𝑎2−9
=

𝑎2+3𝑎−𝑎2+3𝑎

𝑎2−9
=

6𝑎

𝑎2−9
 

 

6.4 

a. 
(𝑎+1)∗(𝑎+3)

(𝑎−2)∗(𝑎+3)
−

(𝑎−1)∗(𝑎−2)

(𝑎+3)∗(𝑎−2)
=

𝑎∗𝑎+𝑎∗3+1∗𝑎+1∗3

𝑎∗𝑎+𝑎∗3−2∗𝑎−2∗3
−

𝑎∗𝑎+𝑎∗(−2)−1∗𝑎−1∗(−2)

𝑎∗𝑎+𝑎∗(−2)+3∗𝑎+3∗(−2)
=

𝑎2+4𝑎+3

𝑎2+𝑎−6
−

𝑎2−3𝑎+2

𝑎2+𝑎−6
=

(𝑎2+4𝑎+3)−(𝑎2−3𝑎+2)

𝑎2+𝑎−6
=

𝑎2+4𝑎+3−𝑎2+3𝑎−2

𝑎2+𝑎−6
=

7𝑎+1

𝑎2+𝑎−6
 

b. 
(𝑎+1)∗(𝑎+1)

(𝑎−1)∗(𝑎+1)
+

(𝑎−1)∗(𝑎−1)

(𝑎+1)∗(𝑎−1)
=

𝑎∗𝑎+𝑎∗1+1∗𝑎+1∗1

𝑎∗𝑎+𝑎∗1−1∗𝑎−1∗1
+

𝑎∗𝑎+𝑎∗(−1)−1∗𝑎−1∗(−1)

𝑎∗𝑎+𝑎∗(−1)+1∗𝑎+1∗(−1)
=

𝑎2+2𝑎+1

𝑎2−1
+

𝑎2−2𝑎+1

𝑎2−1
=

(𝑎2+2𝑎+1)+(𝑎2−2𝑎+1)

𝑎2−1
=

𝑎2+2𝑎+1+𝑎2−2𝑎+1

𝑎2−1
=

2𝑎2+2

𝑎2−1
 

c. 
𝑎∗(𝑎+3)

(𝑎+4)∗(𝑎+3)
−

𝑎∗(𝑎+4)

(𝑎+3)∗(𝑎+4)
=

𝑎2+3𝑎

𝑎2+7𝑎+12
−

𝑎2+4𝑎

𝑎2+7𝑎+12
=

(𝑎2+3𝑎)−(𝑎2+4𝑎)

𝑎2+7𝑎+12
=

−𝑎

𝑎2+7𝑎+12
 

d. 
(3𝑎−5)∗(𝑎−2)

(𝑎−1)∗(𝑎−2)
+

(2𝑎+3)∗(𝑎−1)

(𝑎−2)∗(𝑎−1)
=

3𝑎∗𝑎+3𝑎∗(−2)−5∗𝑎−5∗(−2)

𝑎∗𝑎+𝑎∗(−2)−1∗𝑎−1∗(−2)
+

2𝑎∗𝑎+2𝑎∗(−1)+3∗𝑎+3∗(−1)

𝑎∗𝑎+𝑎∗(−1)−2∗𝑎−2∗(−1)
=

3𝑎2−6𝑎−5𝑎+10

𝑎2−2𝑎−1𝑎+2
+

2𝑎2−2𝑎+3𝑎−3

𝑎2−𝑎−2𝑎+2
=

3𝑎2−11𝑎+10

𝑎2−3𝑎+2
+

2𝑎2+𝑎−3

𝑎2−3𝑎+2
=

3𝑎2−11𝑎+10+2𝑎2+𝑎−3

𝑎2−3𝑎+2
=

5𝑎2−10𝑎+7

𝑎2−3𝑎+2
 

e. 
(4−𝑎)∗(2−𝑎)

(4+𝑎)∗(2−𝑎)
−

(2+𝑎)∗(4+𝑎)

(2−𝑎)∗(4+𝑎)
=

𝑎2−6𝑎+8

−𝑎2−2𝑎+8
−

𝑎2+6𝑎+8

−𝑎2−2𝑎+8
=

(𝑎2−6𝑎+8)−(𝑎2+6𝑎+8)

−𝑎2−2𝑎+8
=

−12𝑎

−𝑎2−2𝑎+8
=

12𝑎

𝑎2+2𝑎−8
 

 

6.5 

a.  
𝑎

𝑎−𝑏
−

𝑏

𝑎−2𝑏
=

𝑎∗(𝑎−2𝑏)

(𝑎−𝑏)∗(𝑎−2𝑏)
−

𝑏∗(𝑎−𝑏)

(𝑎−2𝑏)∗(𝑎−𝑏)
=

𝑎2−2𝑎𝑏

𝑎2−2𝑎𝑏−𝑏𝑎+2𝑏2 −
𝑎𝑏−𝑏2

𝑎2−𝑎𝑏−2𝑎𝑏+2𝑏2 =

𝑎2−2𝑎𝑏

𝑎2−3𝑎𝑏+2𝑏2 −
𝑎𝑏−𝑏2

𝑎2−3𝑎𝑏+2𝑏2 =
(𝑎2−2𝑎𝑏)−(𝑎𝑏−𝑏2)

𝑎2−3𝑎𝑏+2𝑏2 =
𝑎2−2𝑎𝑏−𝑎𝑏+𝑏2

𝑎2−3𝑎𝑏+2𝑏2 =
𝑎2+𝑏2−3𝑎𝑏

𝑎2−3𝑎𝑏+2𝑏2 

b. 
1

𝑎−𝑏
+

1

𝑎+𝑏
=

𝑎+𝑏

(𝑎−𝑏)(𝑎+𝑏)
+

𝑎−𝑏

(𝑎+𝑏)(𝑎−𝑏)
=

𝑎+𝑏

𝑎2−𝑏2 +
𝑎−𝑏

𝑎2−𝑏2 =
(𝑎+𝑏)+(𝑎−𝑏)

𝑎2−𝑏2 =
𝑎+𝑏+𝑎−𝑏

𝑎2−𝑏2 =
2𝑎

𝑎2−𝑏2 

c. 
2

𝑎−𝑏
−

2𝑎

𝑎−2
=

2(𝑎−2)

(𝑎−𝑏)(𝑎−2)
−

(2𝑎)(𝑎−𝑏)

(𝑎−2)(𝑎−𝑏)
=

2𝑎−4

𝑎2−2𝑎−𝑎𝑏+2𝑏
−

2𝑎2−2𝑎𝑏

𝑎2−2𝑎−𝑎𝑏+2𝑏
=

(2𝑎−4)−(2𝑎2−2𝑎𝑏)

𝑎2−2𝑎−𝑎𝑏+2𝑏
=

2𝑎−4−2𝑎2+2𝑎𝑏

𝑎2−2𝑎−𝑎𝑏+2𝑏
=

−2𝑎2+2𝑎𝑏+2𝑎−4

𝑎2−2𝑎−𝑎𝑏+2𝑏
 

d. 
1

𝑎−𝑏
+

𝑎

2𝑎+3𝑏
=

(2𝑎+3𝑏)

(𝑎−𝑏)(2𝑎+3𝑏)
+

𝑎(𝑎−𝑏)

(2𝑎+3𝑏)(𝑎−𝑏)
=

2𝑎+3𝑏

2𝑎2+3𝑎𝑏−2𝑎𝑏−3𝑏2 +
𝑎2−𝑎𝑏

2𝑎2+3𝑎𝑏−2𝑎𝑏−3𝑏2 =

(2𝑎+3𝑏)+(𝑎2−𝑎𝑏)

2𝑎2+𝑎𝑏−3𝑏2 =
2𝑎+3𝑏+𝑎2−𝑎𝑏

(2𝑎2+𝑎𝑏−3𝑏2)
=

𝑎2+2𝑎+3𝑏−𝑎𝑏

2𝑎2+𝑎𝑏−3𝑏2  



e. 
𝑎+𝑏

𝑎−3
−

𝑎−𝑏

𝑎+3
=

(𝑎+𝑏)(𝑎+3)

(𝑎−3)(𝑎+3)
−

(𝑎−𝑏)(𝑎−3)

(𝑎+3)(𝑎−3)
=

𝑎2+3𝑎+𝑎𝑏+3𝑏

𝑎2−9
−

𝑎2−3𝑎−𝑎𝑏+3𝑏

𝑎2−9
=

(𝑎2+3𝑎+𝑎𝑏+3𝑏)−(𝑎2−3𝑎−𝑎𝑏+3𝑏)

𝑎2−9
=

(𝑎2+3𝑎+𝑎𝑏+3𝑏−𝑎2+3𝑎+𝑎𝑏−3𝑏)

𝑎2−9
=

2𝑎𝑏+6𝑎

𝑎2−9
 

 

6.6 

a. 
𝑎+𝑏

𝑎−𝑐
−

𝑎−𝑏

𝑎+𝑐
=

(𝑎+𝑏)(𝑎+𝑐)

(𝑎−𝑐)(𝑎+𝑐)
−

(𝑎−𝑏)(𝑎−𝑐)

(𝑎+𝑐)(𝑎−𝑐)
=

(𝑎2+𝑎𝑐+𝑎𝑏+𝑏𝑐)

𝑎2+𝑎𝑐−𝑎𝑐−𝑐2 −
𝑎2−𝑎𝑏−𝑎𝑐+𝑏𝑐

𝑎2+𝑎𝑐−𝑎𝑐−𝑐2 =
𝑎2+𝑎𝑐+𝑎𝑏+𝑏𝑐

𝑎2−𝑐2 −

𝑎2−𝑎𝑏−𝑎𝑐+𝑏𝑐

𝑎2−𝑐2 =
(𝑎2+𝑎𝑐+𝑎𝑏+𝑏𝑐)−(𝑎2−𝑎𝑏−𝑎𝑐+𝑏𝑐)

𝑎2−𝑐2 =
𝑎2+𝑎𝑐+𝑎𝑏+𝑏𝑐−𝑎2+𝑎𝑏+𝑎𝑐−𝑏𝑐

𝑎2−𝑐2 =
2𝑎𝑏+2𝑎𝑐

𝑎2−𝑐2  

b. 
2𝑎+1

𝑎−𝑏
+

𝑎−2

𝑎+𝑏
=

(2𝑎+1)(𝑎+𝑏)

(𝑎−𝑏)(𝑎+𝑏)
+

(𝑎−2)(𝑎−𝑏)

(𝑎+𝑏)(𝑎−𝑏)
=

2𝑎2+2𝑎𝑏+𝑎+𝑏

𝑎2+𝑎𝑏−𝑎𝑏−𝑏2 +
𝑎2−𝑎𝑏−2𝑎+2𝑏

𝑎2+𝑎𝑏−𝑎𝑏−𝑏2 =

(2𝑎2+2𝑎𝑏+𝑎+𝑏)+(𝑎2−𝑎𝑏−2𝑎+2𝑏)

𝑎2−𝑏2 =
2𝑎2+2𝑎𝑏+𝑎+𝑏+𝑎2−𝑎𝑏−2𝑎+2𝑏

𝑎2−𝑏2 =
3𝑎2+𝑎𝑏−𝑎+3𝑏

𝑎2−𝑏2  

c. 
4−𝑎

𝑎+4𝑏
−

𝑎𝑏

4𝑎+𝑏
=

(4−𝑎)(4𝑎+𝑏)

(𝑎+4𝑏)(4𝑎+𝑏)
−

(𝑎𝑏)(𝑎+4𝑏)

(4𝑎+𝑏)(𝑎+4𝑏)
=

16𝑎+4𝑏−4𝑎2−𝑎𝑏

4𝑎2+𝑎𝑏+16𝑎𝑏+4𝑏2 −
𝑎2𝑏+4𝑎𝑏2

4𝑎2+𝑎𝑏+16𝑎𝑏+4𝑏2 =

−4𝑎2−𝑎𝑏+16𝑎+4𝑏

4𝑎2+17𝑎𝑏+4𝑏2 −
𝑎2𝑏+4𝑎𝑏2

4𝑎2+17𝑎𝑏+4𝑏2 =
(−4𝑎2−𝑎𝑏+16𝑎+4𝑏)−(𝑎2𝑏+4𝑎𝑏2)

4𝑎2+17𝑎𝑏+4𝑏2 =

−𝑎2𝑏−4𝑎𝑏2−4𝑎2−𝑎𝑏+16𝑎+4𝑏

4𝑎2+17𝑎𝑏+4𝑏2  

d. 
𝑎−5𝑐

𝑏−𝑐
∓

2𝑏+3

𝑎−𝑏
=

(𝑎−5𝑐)(𝑎−𝑏)

(𝑏−𝑐)(𝑎−𝑏)
+

(2𝑏+3)(𝑏−𝑐)

(𝑎−𝑏)(𝑎−𝑐)
=

𝑎2−𝑎𝑏−5𝑎𝑐+5𝑏𝑐

𝑎𝑏−𝑏2−𝑎𝑐+𝑏𝑐
+

2𝑏2−2𝑏𝑐+3𝑏−3𝑐

𝑎𝑏−𝑏2−𝑎𝑐+𝑏𝑐
=

(𝑎2−𝑎𝑏−5𝑎𝑐+5𝑏𝑐)+(2𝑏2−2𝑏𝑐+3𝑏−3𝑐)

𝑎𝑏−𝑏2−𝑎𝑐+𝑏𝑐
=

𝑎2+2𝑏2−𝑎𝑏−5𝑎𝑐+3𝑏𝑐+3𝑏−3𝑐

−𝑏2+𝑎𝑏−𝑎𝑐+𝑏𝑐
 

e. 
𝑎

4+𝑎+𝑏
−

2+𝑎

4−𝑎+𝑏
=

𝑎(4−𝑎+𝑏)

(4+𝑎+𝑏)(4−𝑎+𝑏)
−

(2+𝑎)(4+𝑎+𝑏)

(4−𝑎+𝑏)(4+𝑎+𝑏)
=

4𝑎−𝑎2+𝑎𝑏

16−4𝑎+4𝑏+4𝑎−𝑎2+𝑎𝑏+4𝑏−𝑎𝑏+𝑏2 −

8+2𝑎+2𝑏+4𝑎+𝑎2+𝑎𝑏

16−4𝑎+4𝑏+4𝑎−𝑎2+𝑎𝑏+4𝑏−𝑎𝑏+𝑏2 =
4𝑎−𝑎2+𝑎𝑏

−𝑎2+𝑏2+8𝑏+16
−

𝑎2+6𝑎+2𝑏+𝑎𝑏+8

−𝑎2+𝑏2+8𝑏+16
=

(4𝑎−𝑎2+𝑎𝑏)−(𝑎2+6𝑎+2𝑏+𝑎𝑏+8)

−𝑎2+𝑏2+8𝑏+16
=

4𝑎−𝑎2+𝑎𝑏−𝑎2−6𝑎−2𝑏−𝑎𝑏−8

−𝑎2+𝑏2+8𝑏+16
=

−2𝑎2−2𝑎−2𝑏−8

−𝑎2+𝑏2+8𝑏+16
=

2𝑎2+2𝑎+2𝑏+8

𝑎2−𝑏2−8𝑏−16
 

 

6.7 

a. 
3𝑎+18

9𝑏−6
→ 𝑎𝑙𝑙𝑒 𝑡𝑒𝑟𝑚𝑒𝑛 𝑑𝑒𝑙𝑒𝑛 𝑑𝑜𝑜𝑟 3 =

𝑎+6

3𝑏−2
                   𝑏 ≠

2

3
 

b. 
𝑎2+𝑎

𝑎+1
=

𝑎(𝑎+1)

𝑎+1
= 𝑎 ∗

𝑎+1

𝑎+1
= 𝑎 ∗ 1 = 𝑎                    𝑎 ≠ −1 

c. 
4𝑎−2

2𝑎2−𝑎
=

2(2𝑎−1)

𝑎(2𝑎−1)
=

2

𝑎
                          𝑎 ≠ 0, 𝑎 ≠

1

2
 

d. 
𝑎+2𝑏

𝑎2−4𝑏2 =
𝑎+2𝑏

(𝑎+2𝑏)(𝑎−2𝑏)
=

1

𝑎−2𝑏
          𝑎 ≠ 2𝑏, 𝑎 ≠ −2𝑏 

e. 
𝑎𝑏+𝑏3

𝑏2−3𝑏
=

𝑏(𝑎+𝑏2)

𝑏(𝑏−3)
=

𝑎+𝑏2

𝑏−3
                      𝑏 ≠ 3, 𝑏 ≠ 0 

 

6.8 



a. 
𝑎2𝑏+𝑎𝑏2

3𝑎𝑏𝑐
=

𝑎𝑏(𝑎+𝑏)

3𝑎𝑏𝑐
→ 𝑡𝑒𝑙𝑙𝑒𝑟 𝑒𝑛 𝑛𝑜𝑒𝑚𝑒𝑟 𝑑𝑒𝑙𝑒𝑛 𝑑𝑜𝑜𝑟 𝑎𝑏 →

𝑎+𝑏

3𝑐
 

b. 
𝑎2−4𝑎

𝑎+2𝑎2 =
𝑎(𝑎−4)

𝑎(1+2𝑎)
=

𝑎−4

1+2𝑎
 

c. 
4𝑎𝑏−3𝑎𝑏2

𝑎2−𝑎𝑏𝑐
=

𝑎(4𝑏−3𝑏2)

𝑎(𝑎−𝑏𝑐)
=

4𝑏−3𝑏2

𝑎−𝑏𝑐
 

d. 
𝑎2+2𝑎𝑏+𝑏2

𝑎2−𝑏2 =
(𝑎+𝑏)(𝑎+𝑏)

(𝑎+𝑏)(𝑎−𝑏)
=

𝑎+𝑏

𝑎−𝑏
 

e. 
𝑎4−𝑏2

𝑎2−𝑏
=

(𝑎2+𝑏)(𝑎2−𝑏)

𝑎2−𝑏
= 𝑎2 + 𝑏 

 

6.9 

a. 
1

𝑎−3
−

1

𝑎2−9
=

1

(𝑎−3)
−

1

(𝑎+3)(𝑎−3)
=

𝑎+3

(𝑎+3)(𝑎−3)
−

1

(𝑎+3)(𝑎−3)
=

𝑎+3−1

(𝑎+3)(𝑎−3)
=

𝑎+2

𝑎2−9
 

b. 
1

𝑎−3
−

𝑎

𝑎2−9
=

1

(𝑎−3)
−

𝑎

(𝑎+3)(𝑎−3)
=

𝑎+3

(𝑎+3)(𝑎−3)
−

𝑎

(𝑎+3)(𝑎−3)
=

𝑎+3−𝑎

(𝑎+3)(𝑎−3)
=

3

𝑎2−9
 

c. 
𝑎2+1

𝑎−3
−

𝑎2−1

𝑎+3
=

(𝑎2+1)(𝑎+3)

(𝑎−3)(𝑎+3)
−

(𝑎2−1)(𝑎−3)

(𝑎+3)(𝑎−3)
=

𝑎3+3𝑎2+𝑎+3

𝑎2−9
−

𝑎3−3𝑎2−𝑎+3

𝑎2−9
=

(𝑎3+3𝑎2+𝑎+3)−(𝑎3−3𝑎2−𝑎+3)

𝑎2−9
=

𝑎3+3𝑎2+𝑎+3−𝑎3+3𝑎2+𝑎−3

𝑎2−9
=

6𝑎2+2𝑎

𝑎2−9
 

d. 
𝑏

𝑎−𝑏
+

𝑎

𝑏−𝑎
=

𝑏

𝑎−𝑏
+

𝑎

−(𝑎−𝑏)
=

𝑏

𝑎−𝑏
−

𝑎

𝑎−𝑏
=

𝑏−𝑎

𝑎−𝑏
=

−(𝑎−𝑏)

𝑎−𝑏
= −1 

e.         
𝑎2−1

𝑎−1
−

𝑎2+1

𝑎+1
=

(𝑎+1)(𝑎−1)

𝑎−1
−

𝑎2+1

𝑎+1
= 𝑎 + 1 −

𝑎2+1

𝑎+1
=

(𝑎+1)2

𝑎+1
−

𝑎2+1

𝑎+1
=

(𝑎+1)2−(𝑎2+1)

𝑎+1
= 

𝑎2+2𝑎+1−𝑎2−1

𝑎+1
=

2𝑎

𝑎+1
 

 

6.10 

a. 
𝑎+𝑏

𝑎−2𝑏
−

𝑎−2𝑏

𝑎+𝑏
=

(𝑎+𝑏)(𝑎+𝑏)

(𝑎−2𝑏)(𝑎+𝑏)
−

(𝑎−2𝑏)(𝑎−2𝑏)

(𝑎+𝑏)(𝑎−2𝑏)
=

𝑎2+𝑎𝑏+𝑎𝑏+𝑏2

𝑎2+𝑎𝑏−2𝑎𝑏−2𝑏2 −
𝑎2−2𝑎𝑏−2𝑎𝑏+4𝑏2

𝑎2−2𝑎𝑏+𝑎𝑏−2𝑏2 =

𝑎2+2𝑎𝑏+𝑏2

𝑎2−𝑎𝑏−2𝑏2 −
𝑎2−4𝑎𝑏+4𝑏2

𝑎2−𝑎𝑏−2𝑏2 =
(𝑎2+2𝑎𝑏+𝑏2)−(𝑎2−4𝑎𝑏+4𝑏2)

𝑎2−𝑎𝑏−2𝑏2 =
𝑎2+2𝑎𝑏+𝑏2−𝑎2+4𝑎𝑏−4𝑏2

𝑎2−𝑎𝑏−2𝑏2 =
6𝑎𝑏−3𝑏2

𝑎2−𝑎𝑏−2𝑏2 

b. 
𝑎2+𝑎𝑏

𝑎2−𝑏2 + 𝑎 − 1 =
𝑎(𝑎+𝑏)

(𝑎+𝑏)(𝑎−𝑏)
+ 𝑎 − 1 =

𝑎

𝑎−𝑏
+ 𝑎 − 1 =

𝑎

𝑎−𝑏
+

𝑎

1
−

1

1
=

𝑎

𝑎−𝑏
+

𝑎(𝑎−𝑏)

𝑎−𝑏
−

𝑎−𝑏

𝑎−𝑏
=

(𝑎+(𝑎(𝑎−𝑏))−(𝑎−𝑏))

𝑎−𝑏
=

𝑎+𝑎2−𝑎𝑏−𝑎+𝑏

𝑎−𝑏
=

𝑎2−𝑎𝑏+𝑏

𝑎−𝑏
 

c. 
𝑎

𝑎2−4
−

2

4−𝑎2 =
𝑎

(𝑎+2)(𝑎−2)
−

2

(2+𝑎)(2−𝑎)
=

𝑎

(𝑎+2)(𝑎−2)
−

2

−(𝑎+2)(𝑎−2)
=

𝑎

(𝑎+2)(𝑎−2)
+

2

(𝑎+2)(𝑎−2)
=

𝑎+2

(𝑎+2)(𝑎−2)
=

1

𝑎−2
 

d. 
3𝑎−2𝑏

𝑎−𝑏
+

2𝑎+3𝑏

3𝑎
=

(3𝑎)(3𝑎−2𝑏)

(𝑎−𝑏)(3𝑎)
+

((2𝑎+3𝑏)(𝑎−𝑏))

(3𝑎)(𝑎−𝑏)
=

9𝑎2−6𝑎𝑏

3𝑎2−3𝑎𝑏
+

2𝑎2−2𝑎𝑏+3𝑎𝑏−3𝑏2

3𝑎2−3𝑎𝑏
=

(9𝑎2−6𝑎𝑏)+(2𝑎2+𝑎𝑏−3𝑏2)

3𝑎2−3𝑎𝑏
=

9𝑎2−6𝑎𝑏+2𝑎2+𝑎𝑏−3𝑏2

3𝑎2−3𝑎𝑏
=

11𝑎2−5𝑎𝑏−3𝑏2

3𝑎2−3𝑎𝑏
 



e. 
4−𝑎

𝑎
−

4+𝑎

2𝑎
=

2(4−𝑎)

2𝑎
−

4+𝑎

2𝑎
=

8−2𝑎

2𝑎
−

4+𝑎

2𝑎
=

8−2𝑎−(4+𝑎)

2𝑎
=

8−2𝑎−4−𝑎

2𝑎
=

4−3𝑎

2𝑎
 

 


